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QUESTION 1

What is a function of UTM?
A. AppFW

B. IPsec

C. content filtering

D. bridge mode

Correct Answer: C

QUESTION 2

Your network includes SRX Series devices at the headquarters location. The SRX Series devices at this location are
part of a high availability chassis cluster and are expected to support several UTM features.

Which two statements related to this environment are true? (Choose two.)
A. UTM features can be configured on either of the nodes within the cluster.
B. The chassis cluster must be configured for active/active mode.

C. UTM features must be configured on the primary node within the cluster.
D. The chassis cluster must be configured for active/backup mode.

Correct Answer: AD

QUESTION 3

Which two statements about the integrated user firewall feature of the Junos OS are true? (Choose two.)
A. The maximum number of supported active directory servers is ten.

B. IPv6 addresses are not supported.

C. The maximum number of supported active directory servers is five.

D. IPv6 addresses are supported.

Correct Answer: AB

QUESTION 4

Click the Exhibit button.
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| Resources -
i Cormumed Host CPU: 121 MHr
| Cormurned Host Memory: 12037.00 MB

Actree Guest Momory: (%% 00 MB

Prorvessoned Storage:

MHot-shared Storage: 5

Used Storage: 612.11 GB
XOTEGE - Drive Type Capacity
LE rotating-storage Hon-55D 1.82TH S8t
- m Ld
Metwork Type

Referring to the exhibit, you have expanded the disk storage size in ESXi for your log collector from 500 GB to 600 GB.
However, your log collector\\'s disk size has not changed.

Given the scenario, which two statements are true? (Choose two.)

A. You must run a script from the console to expand the disk size.

B. The ESXi storage parameter is not associated with the Elasticsearch disk size parameter.
C. You must reboot the log collector for storage settings to be updated

D. You must re-run the log collector setup script to update the storage settings.

Correct Answer: AC

QUESTION 5

Click the Exhibit button.
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[edit security utm]
userfhosté show
feature-profile (
content-filtering |
profile web-traffic-profile |
block=-content-type |

zZip:

}
utm-policy utm-web-policy |
content-filtering {
htcp-prafile web-traffic-profile;

The UTM policy shown in the exhibit has been applied to a security policy on a branch SRX Series device. In this
scenario, which statement is true?

A. HTTP downloads of ZIP files will be blocked.

B. FTP downloads of ZIP files will be blocked.

C. E-mail downloads of ZIP files will be blocked.

D. ZIP files can be renamed with a new extension to pass through the filter.

Correct Answer: A
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